2+ 8+ 9=09
86 7.523 1 is it & rulfiple of 9
—374238 (not divisible by 9).
4493285 Therefore 289 is not
divisible by 9
" yuys5000000 |° ¢
; ’ H1'2928. 92 Tm|M [Hth|Tth| TR [H | T ] O
. 584000 | 4 1 e 71513[2]|5]a]6]!
T _d0-d H1 2929. 00 The place value of 7 is
H45584404 =412929 (Tm) Ten millions
7 | Hint: Follow BODMAS order & | Hint: Change 5 lifr_es to 9 =3a-4Yb
=3X(5+5)-7 o e =G W= % b
I i = | =- - -
S3% 207 litre |I000m =3X2-4YX 3
R SRLE 5 litres = (1000 X S5)ml j |26 + 12
~ =5,000ml =2-6
=93 ' =6
10| Lem = 60, o.75={0%=§ I x—7="2x—-1 21 72 24 48
‘szso =18 .2 X2 =147 . 100 " 100 T 100
2460 =25.(3 3x=7-1 = Zx 2
3 - 3% = 100~ 100~ 48
=ZX6O =45 ..(4") ' | 3x - 6 _ 36
=1i5x60 =8..(+) 3 3 100
Asc. odr =% ,%,55,0.75 x = 2 . = 036
Bl-2(a-3)+4 -2(a-b-3)+5 | ™ Tat =~ Ext = 180° 15 A= Apothem XPerimeter
=2a-6+4Yb-2a+2b+«6+5 . 2
=\2\—\2‘;\+qb+2b_6+6+5 EX+ =|8O _In+ =2Cm><(4—cm><5)
v = 180° — H5° 2
=6b +\§ - 6+95 -
\6\%\ _ . = 20cm?
~Eh+§ - =3
16 | Hint: Add whole numbers 'Fu:sf 17 D = BH : 18 et _ Diff. _ 381 _ 381
=3+2+(§—§-- %) e = tem ST o1 41 3
15 + 14 D =3Mem +m =127
=g ( ] , . 314
L =gl & — 2nd = (Ist X Q)
=8 + — : .
21 ' =31L|><-1-@ =127 XYy
5l =6 .
21 21 = |00cm = 508
"| _pist.  _ 4oam |®° _L8 1 Bkm = 1hr
" Eachstep  80cm il V70 =ig- 1
-9 9 lkm =-—hr
i (40 xX10)cm ' 80 (each child 15
80cm _79 9ot 8 books YSkm = - X45hr~
400cm= —Aa and 8 books 15
= =D steps 08
80cm ' lremqined) = 3 hours

MATHEMATICS PLE PAST PAPER REVISION WORKBOOK BY EXCEL EDUCATIONAL SERVICES TEL: 0788 654 381 KIGALI-RWANDA Page 18 of IS8



L

(a). At what time did the taxi meet the lorry? (I mark)
(b). For how long did the lorry stop on the way? (I mark)
(c). What w<;1s the average speed of the taxi? (2 marks) : !

(). At whu‘l‘ time did the lorry reach town A? (I mark)

(e). Find the average speed of the lorry for the whole Jjourney. (2 marks)
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